5.1

11,400ha
18,000kw
26km?
( (3
7.565m°/s 1.555m°/s
25.118n%/s
.34 (11.9%) Q2.4%)

29.300m°/s

4,680ha

’ (%33&)/ ) - 2.1% 2.3%
5-1
-5-1

*/s ha

19 25.118 9,808.9

55 7.565 1,581.6

74 32.683 11,390.5
1.555 -
0.232 -

29.300 - 16,000KW
86| 63.770 11,390.5
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32/800

6/11 10/10 10.00m*/s

10/11 6/10 4.00m*/s

(0.021)

0.033

0.015

23/000

0.042

(0.02)

10/590

o W OLwno
O A NM
00 O ©
tToooo

0.158

3.616m/s
0.527m*/s
0.630m*/s

m*/s

m*/s)
m/s
m*/s
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2,000 ]

3.200
(  10.0m/s “
4.7
(  10.0m%/s)
4.170
(12.900
(4.000 (

, (1.864)
6/11 7/5:1.54m°/s (6.031)
7/6 10/10:1.00n°/s 0,640)
10/11 6/10:0.80m%/s (0.830) ;

0.020 O 46/880

(0.280)

1.100 (1.395

0.241

0.377 (0.019)

0.412 (0.249
m’/s)
m/s
m/s
m/s

| O |32r800 6/11 10/10 10.00m*/s
10/11 6/10 4.00m%/s
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5-2

30 50
-5-2
42 10,800ha 11,100ha
&3 2,008ha 1,108ha 5,588ha 400ha
22 5
57 158ha 1,437ha
59 152ha
1,035
6
55
63 65
87
1,384
6
g 3 6
14 9
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